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Honors Precalculus - Unit 3

Using Identities Practice Quiz

Name___________________________________

Date________________  Period____
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Use identities to find the value of each expression.

1)  Find sin θ  and tan θ

if cos θ  = −
4

5
 and tan θ  < 0.

2)  Find csc θ  and sin θ

if cos θ  = −
4

7
 and sin θ  < 0.

3)  Find cos θ  and sin θ

if cot θ  = −
3

4
 and cos θ  > 0.

4)  Find csc θ  and sin θ

if cos θ  = −
4

5
 and csc θ  > 0.
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Simplify.

5)  sin θ sec θ cot θ
6)  1 + tan2 (π2  − θ )

7)  
sec2 −x − 1

sin2 x
8)  tan2 x − tan2 xsin2 x



©P F2[0L1e9d UKWuStqai _S`osfFtRwuaPrFev fLVLyCc.W x OAulCla [rhiYgJhptNs_ \rde]sqeJrMvyezdb.d i rMmafdjeh GwLimtZhY AI]nufkiJnViztYeY wPlrCeLcmaElAcEuylXuksl.

Worksheet by Kuta Software LLC
-3-

Verify the Identity.

9)  
sin xcos −x
1 − cos2 x

 = cot x 10)  
1 − sin2 x
1 + cot2 x

 = sin2 xcos2 x

11)  
tan2 x

1 + tan2 x
 = sin2 x 12)  

sec x − 1

csc (π2  − θ ) + 1

 = 
1 − cos x
1 + cos x


